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Belarus, Minsk, March, 20, 2019

Problem B. Varvara and matrix
Input file: standard input
Output file: standard output
Time limit: 1 second
Memory limit: 256 megabytes

Someone has gifted Varvara matrix n ×m, which consists of numbers from 0 to k. Each row and each
column of this matrix has at most one 0.

Let the beauty of matrix be the number of different rectangles which have equal numbers on all four
corners of this rectangle. Formally, the beauty of the matrix is the number of different sets {x1, x2, y1, y2},
where «1 ≤ x1 < x2 ≤ n», «1 ≤ y1 < y2 ≤ m» and «ax1,y1 = ax1,y2 = ax2,y1 = ax2,y2».

Varvara is interested in the following question: can she replace each 0 in matrix with integers A or B, in
such a way that the beauty of matrix won’t change. Note that each 0 is replaced independently.

Input
The first line contains two integers n and m, denoting the number of rows and columns of the matrix
respectively. The second line contains a single integer k. The third line contains two integers A and B
denoting the numbers which can be used to replace 0 in matrix. Each of the following n lines contain m
space-separated integers ai,j denoting the given matrix.

2 ≤ n,m ≤ 103

2 ≤ k ≤ n ·m

1 ≤ A,B ≤ k,A 6= B

0 ≤ ai,j ≤ k

Output
Print «Yes» and n lines with the matrix after replacing all 0 if it is possible to keep the same beauty of
the matrix. Otherwise, print a single line «No».

Examples
standard input standard output

4 4
5
3 5
1 1 0 3
0 5 4 5
1 1 4 4
2 5 3 0

Yes
1 1 5 3
5 5 4 5
1 1 4 4
2 5 3 3

4 4
4
1 2
1 1 3 3
1 0 2 3
1 2 0 3
1 3 1 3

No
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